Padasalai TrbTnpsc

If |z + 2| < 9, then = belongs to

(1) (—o00,—T) @) [-11,7] B3) (~o00,—T)U[1l,00) @) (—11,7)
x+24<9
-9<x+2<9

Add -2 on both sides
-11 < x<7 = xe[-11,7]

(2) [-11,7]
Given that =, y and b are real numbers = < y,b = (, then
(1) xb<yb (2) xb=yb (3) x=b < yb 4 =7
X<y
b>0 bx <by

59
If 2 ;' > (), then x belongs to
I — 4
(1) [2,00) (2) (2,00) (3) " (—00,2) 4) (—2,00)

When x=2 f(x)is undefinedvalue so x#2

When x>2 f(x) is defined more over f(x) > 0 Hence x € (2 ,»)

2) (2,00)
The solutionof 5z — 1 < 24 and 5z + 1 > —24 1s
() (4,5) 2) (-5,—4) (3) (-5,5) 4) (-5,4)

ox-1<4 5x+1 >-24

5x< 25 5x >-25

X<5 X>-5

X € (-5,5)

(3) (=5,5)

The value of log 5512 is
(1) 16 (2) 18 3 9 4) 12

Iog\ﬁ512 =X
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=512 = (V2

X
2°=(2)2 Powers are same

X

—=9=x=18
2
(2) 18
The value of logg g- is
1) -2 2) -8 3) —4 4 -9
Let log,—/*
%81
=l o 1—4: 3 =34 =3
81 3
X= -4
(3) —4
Iflog 0.25 = 4, then the value of z is
(1) 0.5 (2) 2.5 (3) 1.5 4) 1.25

(x) =025 =x=05 =x=05

The value of log, b log;, ¢ log.a is
(1) 2 (2) 1 (3) 3 4) 4

Byapplyingchange ofbaserule the valueis =1

2) 1
If 3 is the logarithm of 343, then the base is
(I) 5 (2) 7 (3) 6 4 9
log, 343=3 = X;=343=7, =>x=3

2) 7
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Find a so that the sum and product of the roots of the equation
2172 + (a — 3)x + 3a — 5 = 0 are equal is

(1) 1 (2) 2 3) 0 4) 4
Sumoftheroots= (a-3) Product of the roots = 3a-5

kT) 2

Giventhat Sum = Product
_(a-3)_3a-5
LT | 2
= -a+t3=3a5 = 4a=8 =—=a=2
(2) 2

If @ and b are the roots of the equation z> — kz + 16 = 0 and satisfy a® + b> = 32, then the value
of kis
(1) 10 (2) -8 (3) —8,8 4) 6

Sumoftheroots a+b=k Product =16= ab
a’+ b*= (a+b)’— 2ab
a’+ b*= (a+ b)*— 2ab =32
— k2-(32) =32
K2=64 — k=18

3 8,8

The number of solutions of z° + |z — 1| = 1 is
() 1 2) 0 (3) 2 4) 3

X¥+x-1=1
X?+x-2 =0
(x+2) (x-1) =0
X=1 (or)x=-2
X2-x+1 =1
X2-x=0
X(x-1)=0= x=0 (or)x=1
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Fromthis -2 isnotsatisfies

The number of solutions =2

(3) 2

The equation whose roots are numerically equal but opposite in sign to the roots of
3x2— 5z —T=0is

(D) 322—-5z—7=0 (2) 322+5xz—-T=0 3) 322-52+7=0 @) 3z24+z-7T
Letonerootsare -a and -

Sum=- (0c+B)=E =atp= >
3 3

Product = (-a) (-B)= ap = —g

Hencetheequationis x2 (SR)+PR =0

(1) 322 -5z —-17=0

If 8 and 2 are the roots of 22 + ax + ¢ = 0 and 3. 3 are the roots of 22 + dz + b = 0. then the roots
of the equation 2 + ax + b = 0 are

(1) 1,2 2 -1,1 (30, 941 4) -1,2
Giventhat 8 and are the roots of first equation
Sum of the roots = 8+2 = -a = a= -10
Product of the roots (8) (2) =c = c =16
Giventhat 3,3 aretheroots ofthe second equation
Sumoftheroots 3+3=-d = 6=d
Productoftheroots (3)(3)=b = b=9
The equation if x?+ax+b =0
X?-10x+9=0 = (%x-1)(x-9)=0 = x=1,9

(3) 9.1

If a and b are the real roots of the equation z> — kx + ¢ = 0, then the distance between the points
(a,0) and (b,0) 1s

(1) Vk*—4c (2) 4k* — ¢ (3) +4c—k* (4) k — 8¢
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Sumoftheroots = a+b=k and Product of the roots = ab =c

Distance betweenthe points :\/(a—b)2 +(0-0y° =a-b

a—b=/(a+b)* —4ab =k *-4c

If o ;};; -1 = ;—2# 5 + .;‘i 1~then the value of k is
(1) 1 (2) 2 (3) 3 4) 4
Kx =2 (x-1) + (x+2)
Equating co eff of xon both sideswe get
K=2+1=3
(3) 3
If 1255 = 74 + £ then the value of A + B is
1y 2 3) 3 @ 3
1-2x = A (x+1) + b (3-x)
Equating constant terms on both sides we get
1=A+3B (i)
Equating coefficient of x terms on both sides
2=A-B - (i)
By solving (i) and (i)weget A = —Z B =j
Hencethe value of A+B= —_5 +_3:—_2= f
4 4 4 2
(h &
The number of roots of (z + 3)* + (z + 5)' = 16 is
(1) 4 (2) 2 (3) 3 4) 0

The degreeofthe equationis 4

Hence the number of roots =4

(I 4
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The value of log, 11 - log; 13 - log,4 15 - log,. 27 - log,. 81 is

27

(1 (2) 2 3 3 4) 4

By applying change of base rule we have

log,81
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